S N S Pneumatic Components

Shock absorbers AC/FC series

<
_AC Suba e L
. Series code Porsize  Stroke  Shock speed  Absorber cap
. AC: aulo-compesale 1: high Nil: with
FC: adjustable 2: midst N: without
3: low
L
’
-
Specification
Model ACDBO06 AC1005 AC1008 AC1210 AC1412 ‘ AC1416 AC2020 AC2050 AC2525 AC2540 AC3660
Stroke 6 5 8 10 12 16 20 50 25 40 60
Max. absorbed energy/Cyle(Nm) 2 3 4 5 15 20 40 60 80 120 250
Min. absorbed energy/Cyle(Nm) 1200 3600 5000 10000 30000 35000 40000 60000 | /0000 75000 120000
Max. effective weight(Kg) 1 05 1 2 -] 8 10 a0 60 | 200 300 400
s 2 3 4 10 50 70 200 400 | BOO 1200 1500
3 6 T 9 | 30 100 150 700 1200 l 1500 2000 ‘2400
Max. shock speed(m/s) 1 2 3 3 2 3 3 3.5 35 |4 4 4
2 1 1.5 5 15 15 15 2 2 |25 25 25
o 3 0.5 108 08 108 08 08 1 1 11 1 11
Waeight (Kg) 1 14 20 N5 80 90 215 300 | 330 430 1030
Ambient & fluid temperature -10-80C
Model FC1410 FC2016 FC2525 FC2540 FC3650 FC4225 FC4250 FC4275 | FCE450 FC64100 | FC64150
Stroke 0 16 25 20 50 % 50 75 50 100 150
Max. absorbed energy/Cyle(Nm) 20 25 85 100 300 260 500 750 | 12000 24000 36000
Min. absorbed energy/Cyle{Nm) 25000 | 30000 70000 | 80000 100000 125000 1.50000 180000 | 1500000 ZOOOUOD | 2500000
Max. effective weight(Kg) | 1 80 200 400 700 1400 3000 4000 6000 12727 18181 23636
2 80 200 400 700 1400 3000 4000 6000 | 12727 18181 23636
_ 3 80 1200 400 700 1400 3000 4000 6000 12727 18181 | 23636
Max. shock speed(m/s) 1 3 35 35 3.5 3 35 4.5 45 1.5 1.5 15
2 3 35 3.5 3.5 3 as 4.5 45 1.5 1.5 15
3 3 3.5 3.5 3.5 3 35 4.5 45 | 1.5 15 15
Weight{Kg) 90 | 230 | 350 | 455 1100 1280 1495 1710 [4115 5280 6785
Ambient & fluid temperature -10-80C
Dimension
J [Doutle taces) J (Doubde faces)
o
l oy e m_
|
[ I < gl <
el F E F F E
8 D ' PalEE o D J
c c _
Without absorber cap With absorber cap
Model A B Cc 8] E F G J Model A B Cc D F G H I J
AC0806 M8x1.0 6 44 3 5 3 28 11 ACO0806 M8x1.0 6 524 33 5 3 28 66 B.4 1
AC1005 Mi10x1.0 5 327 29 48 3 3 127 AC1005 M10x1.0 5 412 229 48 3 3 8.6 8.5 127
AC1008 M10x1.0 8 51 38 5 3 3 127 AC1008 M10x1.0 8 585 38 5 3 3 8.6 8.5 127
AC1210 Mi2x10 10 60 455 45 4 3 14 AC1210 M12x1.0 10 695 455 45 4 3 103 95 14
AC1412 M14x1.0 12 88 &7 9 6 4 19 AC1412 M14x1.0 12 1025 67 9 6 4 12 145 19
AC1416 M1dx10 16 111 88 9 6 4 19 AC1416 M14dx1.0 16 125.5 12556 @ 6 4 12 145 19
AC2020 M20x1.5 20 146.5 1465 9 8 6 18 165 26
AC2050 M20x1.5 50 2335 158 9 8 6 18 165 26
AC2525 M25x1.5 25 1545 101 0 10 8 22 183 32
AC2540 M25x15 40 2083 127 10 10 8 22 N3 32
AC3660 M36x1.5 60 243 134 1 15 10 35 21 46

148 WWW.S-NS.com



0z B85 9z /8L 0z €2 95z 8,9t ep g8L  0GL (gealdNn=z | SLP9Dd
02 6S 9z 121 0z €2 961 8'LvE £e 88l 00 (geoldNnzZ | 00L$904
(174 B85 92 Ll 0z €2 a¥l [ WAZA £¢e 88l 05 (S'€9)4NN*Z | 064904
1 M r | H 9 4 3 a ) g v adA
juelodwos
oj|NDIPAK £ B4
05 2k Svy Sk S ¥9F 92 6E SGIOE GL SIXeyW | Si2¥Od g€ Z¢ 8 0L €IE Gl /gl BSiEe Oy GIXGZN | 0pSeOd
05 2L Svr G S ¥El 9C %€  I¥¢ 0S GIXevW| 0S2vOd ¢€ 2 8 0L €8 G/L 0L 8191 G2 GIXGZW | 62S¢O0d
05 2L SPP SL 6 Gp0L 92 € G988l SZ GLXZpW | SZZpDd 9z 8L 9 g GOl gl 10} S6PL 9L &LX0ZW | 910204
9y 0L S G 8 9vL LI |2 ZrZ 0S G LXGEW | 059€04 6L 2L ¥ 9 Gl gl €/ GEll O0F SIXPLW | OLpiOd
S I H 9 4 3 @ 0 8 v adAy r I H 9 E| 3 a 9 8 v adf |
z b4 | B4
g Big Z b4 L 'Biq
8
_w.h\vﬁl_ﬂ; ] S e — ]
3] 5 4 .J..m_ a a 5 a = a =]
w @ =3 * 7 ™ L]
i r/.ﬁ ? .m.m|_ § s A_ |2 = : lo|>
le o v o 4 » = | 2 1 ¥
: 3 LT, . 015
—t—tr (s=08; 3iqnoq) ¥ H (saoe} signog) N
uorsuswiq

S9LIBS J4/JV Si2qlosqe Yooys

sjusuodwiog opewnsud QN S



